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.HDGDDQ�DLU�WDQDK�SDGD�GDHUDK�2$)��2OG�$QGHVLWH�)RUPDWLRQ��PHPLONL�NHWHUVHGLDDQ�\DQJ�WHUEDWDV�GLNDUHQDNDQ�
NRQGLVL� EDWXDQ� NHGDS� DLU� \DQJ� PHQGRPLQDVL�� %HOXP� DGD� SHQHOLWLDQ� GDUL� WDKXQ� ����� VDPSDL� VHNDUDQJ� \DQJ�
PHPEDKDV�PHQJHQDL�KXEXQJDQ�DQWDUD�DOWHUDVL�KLGURWHUPDO�GHQJDQ�MHQLV�DNXLIHU��UHVSRQ�EDWXDQ�WHUKDGDS�DLU�WDQDK��
GDQ�NHWLQJJLDQ�PXND� DLU� WDQDK��'DHUDK�SHQHOLWLDQ� WHUOHWDN�GL�'HVD�+DUJRZLOLV��.HFDPDWDQ�.RNDS��.DEXSDWHQ�
.XORQSURJR�� 'DHUDK� ,VWLPHZD� <RJ\DNDUWD�� 0HWRGH� SHQHOLWLDQ� WHUGLUL� DWDV� LQWHUSUHWDVL� GDWD� VHNXQGHU� JHRORJL�
PHOLSXWL� FLWUD�� DQRPDOL� ERXJHU�� GDQ� JHROLVWULN�� � SHPHWDDQ� VXUIDFH� PHOLSXWL� PHDVXULQJ� VHFWLRQ�� VFDQOLQH�� GDQ�
NHWLQJJLDQ�PXND� DLU� WDQDK�� 6WUDWLJUDIL� GDHUDK� SHQHOLWLDQ� GDUL� WXD� NH�PXGD� \DLWX� )RUPDVL�.HER�%XWDN� VHEDJDL�
DNXLNOXG�\DQJ� WHUPDVXN�GDODP�2$)�VHUWD� ,QWUXVL�$QGHVLW� VHEDJDL�DNXLIXJ��3DGD�SHPEDJLDQ� VDWXDQ�JHRPRUILN�
GDHUDK�SHQHOLWLDQ� WHUEDJL�DWDV�GXD� VDWXDQ�JHRPRUILN�\DLWX� VDWXDQ�EHQWXN�DVDO� IOXYLDO�GDQ�YXONDQLN��GDUL� VDWXDQ�
WHUVHEXW�WHUEDJL�ODJL�PHQMDGL�GXD�VDWXDQ�EHQWXN�ODKDQ�GLDQWDUDQ\D�3HUEXNLWDQ�9XONDQLN�7HUGHQXGDVL�GDQ�'DWDUDQ�
)OXYLDO��6WUXNWXU�\DQJ�EHUNHPEDQJ�SDGD�GDHUDK�SHQHOLWLDQ�GDUL�GDWD�FLWUD��JHRORJL�SHUPXNDDQ��GDQ�DQRPDOL�JD\D�
EHUDW�\DLWX�NHOXUXVDQ�VWUXNWXU�JHRORJL�\DQJ�EHUDUDK�XWDUD�VHODWDQ�GDQ�VHVDU�PHQGDWDU�NLUL�\DQJ�EHUDUDK�WLPXU�ODXW�
EDUDW�GD\D��+LGURJHRORJL�SDGD�GDHUDK�SHQHOLWLDQ�WHUGLUL�DWDV�DNXLIHU�DOWHUDVL�WLGDN�WHUWHNDQ�GDQ�DNXLIHU�FHODK�WLGDN�
WHUWHNDQ��7HUGDSDW�GXD�WLSH�DOWHUDVL�\DLWX�DOWHUDVL�WLSH�SURSLOLWLN�VHEDJDL�DNXLIHU�GDQ�DOWHUDVL�WLSH�DUJLOLN�VHEDJDL�
DNXLNOXG��$NXLIHU�FHODK�WLGDN�WHUWHNDQ�WHUGDSDW�SDGD�]RQD�VHVDU�PHQGDWDU�NLUL�GHQJDQ�NHOXUXVDQ�WLPXU�ODXW�EDUDW�
GD\D��3HQHOLWLDQ�VHODQMXWQ\D�GLUHNRPHQGDVLNDQ�XQWXN�PHQJNDML�PHQJHQDL�JHRPHWUL�DNXLIHU�

.DWD�.XQFL ��$NXLIHU��$OWHUDVL�+LGURWHUPDO��2OG�$QGHVLWH�)RUPDWLRQ��6WUXNWXU�*HRORJL
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.HDGDDQ�DLU�WDQDK�SDGD�GDHUDK�2$)��2OG�$QGHVLWH�
)RUPDWLRQ�� PHPLONL� NHWHUVHGLDDQ� \DQJ� WHUEDWDV�
GLNDUHQDNDQ� NRQGLVL� EDWXDQ� NHGDS� DLU� \DQJ�
PHQGRPLQDVL��%HOXP�DGD�SHQHOLWLDQ�GDUL WDKXQ������
VDPSDL� VHNDUDQJ� \DQJ� PHPEDKDV� PHQJHQDL�
KXEXQJDQ� DQWDUD� DOWHUDVL� KLGURWHUPDO� GHQJDQ� MHQLV�
DNXLIHU�� UHVSRQ� EDWXDQ� WHUKDGDS� DLU� WDQDK�� GDQ�
NHWLQJJLDQ�PXND�DLU�WDQDK�
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'DHUDK� SHQHOLWLDQ� WHUOHWDN� GL� 'HVD� +DUJRZLOLV��
.HFDPDWDQ�.RNDS� .DEXSDWHQ�.XORQSURJR��'DHUDK�
,VWLPHZD�<RJ\DNDUWD�

*DPEDU���/RNDVL�3HQHOLWLDQ
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*DPEDU���*HRORJL�'DHUDK�3HQHOLWLDQ

9DQ�%HPPHOHQ�������GDQ�+DUMDQWR��������PHPEDJL�
-DZD� 7HQJDK� PHQMDGL� HQDP� ]RQD� ILVLRJUDIL�� \DLWX�
*XQXQJ�$SL�.XDUWHU��'DWDUDQ�$OXYLDO�8WDUD�-DZD��
$QWLNOLQRULXP� 6HUD\X� 8WDUD�� .XEDK� GDQ�
3XQJJXQJDQ� SDGD� =RQD� 'HSUHVL� 7HQJDK�� =RQD�
'HSUHVL� 7HQJDK� GDQ� 3HJXQXQJDQ� 6HODWDQ��
%HUGDVDUNDQ� SHPEDJLDQ� WHUVHEXW� PDND� GDHUDK�
.XORQ� 3URJR� WHUPDVXN� EDJLDQ� GDUL� =RQD� 'HSUHVL�
7HQJDK�� 6HFDUD� UHJLRQDO� VDWXDQ�/LWRVWUDWLJUDIL� GDUL�



XPXU� WXD� NH� PXGD� DGDODK� �� )RUPDVL� 1DQJJXODQ��
)RUPDVL� .DOLJHVLQJ�� )RUPDVL� 'XNXK�� )RUPDVL�
-RQJJUDQJDQ�� )RUPDVL� 6HQWROR� VHUWD� HQGDSDQ�
JXQXQJ� DSL� .XDUWHU� GDQ� HQGDSDQ� DOXYLDO�� 'DHUDK�
SHQHOLWLDQ� .RNDS�� .XORQSURJR� EHUDGD� SDGD� ]RQD�
'HSUHVL�7HQJDK�\DQJ� WHUGLUL� DWDV�)RUPDVL�6HQWROR��
)RUPDVL� .HER�EXWDN�� )RUPDVL� -RQJJUDQJDQ� GDQ�
,QWUXVL�$QGHVLW�

)RUPDVL�WHUWXD�GLWHPSDWL�ROHK )RUPDVL�1DQJJXODQ�GL
.XORQ�3URJR��0DUWLQ���������GDODP�+DUMDQWR��������
PHQDPDNDQ�VHEDJDL�1DQJJXODQ�EHGV� �GLDPELO�GDUL�
3XUQDPDQLQJVLK� GDQ� 3ULQJJRSUDZLUR�� �������
)RUPDVL�1DQJJXODQ�GLFLULNDQ�ROHK�EDWXSDVLU�VLVLSDQ�
OLJQLW��EDWXOHPSXQJ�GHQJDQ�NRQNUHVL�OLPRQLW� QDSDO��
EDWXSDVLU� GDQ� WXID�� 6HGDQJNDQ� $QJJRWD� 6HSXWLK�
WHUGLUL� GDUL� QDSDO� \DQJ� EHUZDUQD� SXWLK� GHQJDQ�
VLVLSDQ� EDWXSDVLU� GDQ� EDWXOHPSXQJ GDQ� EHUXPXU
(RVHQ� 7HQJDK� VDPSDL� 2OLJRVHQ� $ZDO� �+DUWRQR��
������

'DODP�SHQHOLWLDQ�+DUMDQWR��������PHQ\DWDNDQ�MLND�
GL� DWDV� )RUPDVL� 1DQJJXODQ� GLHQGDSNDQ� )RUPDVL�
$QGHVLW� 7XD� �%HPPHOHQ�� ������� 3ULQJJRSUDZLUR�
GDQ� 5L\DQWR�� ������� PHPEDJLQ\D� PHQMDGL� GXD�
)RUPDVL� \DLWX� )RUPDVL� .DOLJHVLQJ� GDQ� )RUPDVL�
'XNXK�� )RUPDVL� .DOLJHVLQJ� GLFLULNDQ� ROHK� EUHNVL�
PRQRPLN�� GHQJDQ� IUDJPHQ� DQGHVLW�� VLVLSDQ�
EDWXSDVLU� GDQ� ODYD� DQGHVLW�� 5DKDUGMR�� GNN��������
PHQDPDNDQ� )RUPDVL� LQL� VHEDJDL� )RUPDVL�
.HEREXWDN��6HGDQJNDQ�)RUPDVL�'XNXK� WHUGLUL�GDUL�
EUHNVL� SROLPLN� GHQJDQ� IUDJPHQ� DQGHVLW�� EDWXSDVLU��
EDWXJDPSLQJ EHUXPXU� 2OLJRVHQ� $NKLU� ± 0LRVHQ�
$ZDO�

7HUGDSDW� NHWLGDNVHODUDVDQ� DQWDUD� )RUPDVL� $QGHVLW�
7XD� GHQJDQ� )RUPDVL� -RQJJUDQJDQ� VHUWD )RUPDVL�
6HQWROR�� )RUPDVL� -RQJJUDQJDQ� GLGRPLQDVL ROHK�
QDSDO� WXIDDQ� GDQ� EDWXSDVLU� JDPSLQJDQ� GHQJDQ�
VLVLSDQ� OLJQLW�� 'LPDQD� GL� DWDVQ\D PHQJDODPL
SHUXEDKDQ� PHQMDGL� EDWXJDPSLQJ� EHUODSLV� GDQ�
EDWXJDPSLQJ� WHUXPEX�� )RUPDVL� 6HQWROR� EDJLDQ�
EDZDK� GLGRPLQDVL ROHK� SHUVHOLQJDQ� EDWXOHPSXQJ�
GDQ�EDWXSDVLU��0DNLQ NH DWDV�EHUXEDK�PHQMDGL�QDSDO
VLVLSDQ�EDWXSDVLU� GDQ� WXI��'L� DWDV�)RUPDVL� 6HQWROR�
VHFDUD� WLGDN� VHODUDV WHUHQGDS� PDWHULDO YRONDQLN�
.XDUWHU� JXQXQJ�0HUDSL� GLGRPLQDVL WXI�� WXI� ODSLOOL��
EUHNVL��DJORPHUDW�GDQ�ODYD�DQGHVLW��
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0HQXUXW� SHQHOLWDLQ� VHEHOXPQ\D� �3UDQD\RJD�
3UDPXPLMR\R�GNN�� ������� GDHUDK� SHQHOLWLDQ� WHUGLUL�
DWDV� HQDP� VDWXDQ� EDWXDQ� \DQJ� WHUPDVXN� GDODP�
IRUPDVL�1DQJJXODQ�GHQJDQ�XUXWDQ�GDUL�\DQJ�SDOLQJ�
WXD�NH�PXGD�\DLWX�4XDU]W�:DFNH��,QWUXVL�$QGHVLW����
,QWUXVL�$QGHVLW����%UHNVL�'LDWUHPH��,QWUXVL�$QGHVLW�
��� GDQ� ,QWUXVL� $QGHVLW� 'DVLWLN�� $GD� OLPD� VWUXNWXU�
JHRORJL� \DQJ�GLWHPXNDQ�GDODP�DUHD�SHQHOLWLDQ� LQL��
\DLWX� VWUXNWXU�GHQJDQ�RULHQWDVL 1:�± 6(�GDQ�1(�
6:� VHEDJDL� WHQVLRQ� IUDFWXUHV VHSHUWL� XUDW� NXDUVD��
VLQLVWUDO VWLNH VOLS�IDXOW�GHQJDQ�RULHQWDVL�1(�± 6:��
GDQ NHOXUXVDQ�GHQJDQ�RULHQWDVL 11:�± 66(�\DQJ�
GLSUHGLNVL� VHEDJDL� QRUPDO� IDXOW�� 6WUXNWXU� JHRORJL
ODLQQ\D� \DQJ� GLMXPSDL� \DLWX� NRPSUHVLRQDO� VWUHVV�
GHQJDQ� RULHQWDVL� 11(�66: �3UDQD\RJD�
3UDPXPLMR\R�GNN��������

*DPEDU���3HWD�+LGURJHRORJL
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%HUGDVDUNDQ�3HWD�+LGURJHRORJL��PDND�GDHUDK�.RNDS�
GDQ� VHNLWDUQ\D� PHPLOLNL� EHUEDJDL� PDFDP�
NDUDNWHULVWLN� EDWXDQ� \DLWX� $NXLIXJ� SDGD� EDWXDQ�
$QGHVLW�GDQ�$QGHVLW�'DVLWLN��$NXLNOXG�SDGD�%UHNVL��
GDQ�$NXLIHU�SDGD�.XDUVD�
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%HUGDVDUNDQ� 3HWD� $OWHUDVL�� NDUDNWHULVWLN� EDWXDQ�
GDSDW� GLEHGDNDQ� PHQMDGL� ��� \DLWX� $NXLIHU� SDGD�
$OWHUDVL� 3URILOLWLN� GDQ� $NXLNOXG� SDGD� $OWHUDVL�
$UJLOLN�
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+DVLO� RYHUOD\� GDUL� 3HWD� +LGURJHRORJL� GDQ� 3HWD�
$OWHUDVL�� GLGDSDWNDQ� �� MHQLV� NDUDNWHULVWLN� EDWXDQ�
SDGD�GDHUDK�SHQHOLWLDQ�\DLWX�$NXLIHU��$NXLNOXG��GDQ�
$NXLIXJ�
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$OWHUDVL� KLGURWHUPDO� \DQJ� GLMXPSDL� GLNRQWURO� ROHK�
GXD� VWUXNWXU� JHRORJL� \DQJ� GLMXPSDL� GL� GDHUDK�
SHQHOLWLDQ�� $OWHUDVL� EHUXSD� $OWHUDVL� $UJLOLN� GDQ�
3RUILULWLN�

$OWHUDVL�KLGURWHUPDO�GDQ�HQGDSDQ�PLQHUDO�GLNRQWURO�
ROHK�RULHQWDVL�GQD�GLVWULEXVL�VWUXNWXU�JHRORJL�GDHUDK�
SHQHOLWLDQ�� 7HUGDSDW� WLJD� WLSH� $OWHUDVL� KLGURWHUPDO�
\DQJ� PHQJDQGXQJ� OHPSXQJ� VLOLND� �4XDUW]�LOOLWH��
VPHFWLWH��� $UJLOLN� �6PHFWLWH� LOOLWH�� 6PFWLWH��� GDQ�
3RUILOLWLN� �&KORULWH� FDOFLWH�� HSLGRWH��� 9DULDVL� GDQ�
MXPODK� PLQHUDO� ELMLK� GL� XUDW� NXDUVD� �4XDUW]�
DGXODULD�VHULVLW�� �SK\ULW�VIDOHULW� �� FKDOFRS\ULWH�
JDOHQD�PDUFDVLWH�DUVHQRS\ULWH�� OHELK� WLQJJL�
GDULSDGD� GL� DOWHUDVL� ]RQD� OHPSXQJ� VLOLND� �S\ULWH� ��
PDUFDVLWHFKDOFRS\ULWH�� $UJLOLF� GDQ� 3RUILULWLN��
S\ULWH�
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-HQLV�DNXLIHU�GGDHUDK�SHQHOLWLDQ�WHUGLUL�GDUL DNXLIHU�
DQWDU� EXWLU� DOWHUDVL� SURSLOLWLN� GDQ� EDWXSDVLU� TXDUW�
ZDFNLH GDQ�DNXLIHU� UHNDKDQ�EHUXSD�VHVDU�PHQGDWDU�
NLUL�
5HVSRQ�EDWXDQ�WHUKDGDS�DLU�WDQDK�GDHUDK�SHQHOLWLDQ�
WHUGLUL� DWDV� DNXLIXJH� GLVXVXQ� ROHK� LQWUXVL� DQGHVLW��
DQGHVLW� GDVLWLN�� GDQ� DOWHUDVL� DUJLOLN�� NHPXGLDQ�
DNXLNOXG�GLVXVXQ�ROHK�EUHNVL�GLDWUHPD�VHUWD�DNXLIHU�
GLVXVXQ�ROHK�DOWHUDVL�SURSLOLWLN�GDQ�EDWXSDVLU�TXDUW�
ZDFNLH

'$)7$5�3867$.$

0XUZDQWR�� +��� ������ 7KH� $QFLHQW� /DNH�
(QYLUHQWPHQW�,Q�%RUREXGXU�$UHD�&HQWUDO�-DYD��
%XOHWLQ� 7HNQRORJL� 0LQHUDO�� -XUXVDQ 7HNQLN�
*HRORJL�831�³9HWHUDQ´�<RJ\DNDUWD�

3UDVHW\DGL�� &��� ������ (YROXVL� WHNWRQLN� 3DOHRJHQ�
-DZD� EDJLDQ� WLPXU�� 'LVHUWDVL� 'RNWRU�� ,7%�
%DQGXQJ��QRW�SXEOLVKHG������SDJHV�

8EDLGL�� (��� ������ 0HQJJDOL� 3RWHQVL� *HRKHULWDJH�
8QWXN� 3HPEDQJXQDQ� %HUNHODQMXWDQ��
.HPHQWHULDQ� (QHUJL� GDQ� 6XPEHU� 'D\D�
0LQHUDO�����SDJHV�

:LQDUGL�� 6��� GNN�� ����� 7KH� 3RWHQWLDO� RI� (RFHQH�
6KDOH� RI� 1DQJJXODQ� )RUPDWLRQ� DV� D�
+\GURFDUERQ�6RXUFH�5RFN��,QGRQHVLDQ�-RXUQDO�
RI�*HRORJ\��9RO����1R����0DUFK�������������

:LGDJGR�� $��� ������ .DMLDQ� 3HQGDKXOXDQ� .RQWURO�
6WUXNWXU� *HRORJL� 7HUKDGDS� 6HEDUDQ� %DWXDQ�
%DWXDQ� 'L� 'DHUDK� 3HJXQXQJDQ� .XORQSURJR�
<RJ\DNDUWD�� 352&((',1*�� 6(0,1$5�
1$6,21$/�.(%80,$1�.(���

0DU\DQWR�� 6��� ������ 6HGLPHQWRORJL� %DWXJDPSLQJ�
)RUPDVL� -RQJJUDQJDQ�'L� 6HSDQMDQJ� /LQWDVDQ�
*XD� .LVNHQGR�� *LULPXO\R� .XORQSURJR��
-851$/�*(2/2*,�'$1�680%(5'$<$�
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